
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Aritmética de expoentes inteiros

(−9) − 3 =2 (−7) − 6 =3

3 + (−3) =2 (−5) − 9 =3

2 − (−8) = (−8) − (−10) =3

(−5) − 8 =2 7 + 5 =0

2 + (−7) =3 5 + 6 =0

3 − 10 =3 (−7) + (−7) =0

(−7) + (−8) =3 (−1) − (−8) =

(−3) + (−9) =3 5 − 6 =3

(−7) + 7 =2 (−1) + (−10) =

(−1) + 1 =2 (−6) + 2 =3
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Aritmética de expoentes inteiros

(−9) − 3 = 782 (−7) − 6 = (−349)3

3 + (−3) = 62 (−5) − 9 = (−134)3

2 − (−8) = 10 (−8) − (−10) = (−502)3

(−5) − 8 = 172 7 + 5 = 60

2 + (−7) = 13 5 + 6 = 70

3 − 10 = 173 (−7) + (−7) = (−6)0

(−7) + (−8) = (−351)3 (−1) − (−8) = 7

(−3) + (−9) = (−36)3 5 − 6 = 1193

(−7) + 7 = 562 (−1) + (−10) = (−11)

(−1) + 1 = 22 (−6) + 2 = (−214)3
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